Rozwiazania @
Zadanie 2 str. 156

7 3 23
— 8—cm b) —m, 3—m
a) 10 cm, 10 ) 100 100

Zadanie 3 str. 157

a) ——kg, 2-—kg  b)——t 5—_t
Zadanie 4 str. 157
a) %, 2%, b) é—g; S%, ) %, 42%
Cwiczenie 4 str. 60
a) 8m 5cm S%m XS%Gm 810500m
b) 4km 21m 452 km 4iCkm X 478l km
c) 7kg 6dag 71%kg K 7%kg 710600 kg
d 3kgllg 315ke 305 kg X 3555 ke
Cwiczenie 5 str. 60
a) gem= 9 mm sm =50 cm jkm= 250 m
63cm= 65 mm 532m = 590 cm 8lkm=§50 m
b) fkg= 50 dag 1ke = 150 ¢ st= 500 kg
4lkg= 490 dag  6lkg = G0 253 t= 15500 kg
Cwiczenie 6 str. 60
9 3em7mm= 3G m @ 4kg3s05- § 192 ke

b) 12m 19cm = 41,;1425 m e) 9kg 17dag = 3%%:5 kg

0 7km380m=7 380 km 0 s5t75kg- GEo

a) % godziny to 50 minut. C) % minuty to 45 ~ sekund.
1% godziny to J{) minut. 2% minuty to 139 sekund.
b) % doby to ). godziny. d) % kwadransa to 5  minut.



